Name: ___________________________________    Date: ______________
 1. Multiply.
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 2. A line passing through (11, 1) and (7, y) is parallel to a line with slope –2.  What is the value of y?
 3. Evaluate.    42 + 2·7 – (5 · 4 – 15)
 4. A small company produces both doll houses and sets of doll furniture.  The doll houses take 3 hours of labor to produce, and the furniture sets take 8 hours.  The labor available is limited to 400 hours per week, and the total production capacity is 100 items per week.  Existing orders require that at least 20 doll houses and 10 sets of furniture be produced per week.  Write a system of inequalities representing this situation, where x is the number of doll houses and y is the number of furniture sets.  Then graph the system of inequalities.

 5. Graph the inequality.


x – y ≤ 2


 6. Solve.     –4(6x – 4) + 6(4x + 4) = x – 3
 7. Write the equation of the line with slope 4 and y-intercept (0, –5).  Then graph the line.

8. Write the equation of the line with slope [image: image2.wmf] and y-intercept (0, 3).  Then graph the line.

 9. Solve the system by addition or substitution.

     3x – 4y = 8

     6x – 2y = 10
 10. Write the inequality in words.     x ≥ 2
 11. Combine like terms.


6a2 + 4a + 5 + 3a2 + 7a – 2
 A) 20a2 + 3
 B) 20a3 + 3
 C) 18a2 + 28a – 10
 D) 9a2 + 11a + 3
 12. Fill in the blank with < or >.
4  ______ –5
 13. List the like terms in the following group of terms.


6wx, 5x, 10w, 5wx
 14. Let y vary directly with x, with a constant of variation k = 3.  Graph the equation of variation.

 15. An airplane covered 24 miles of its route while decreasing its altitude by 16,000 feet.  Find the slope of the airplane's line of descent.  Round to the nearest hundredth.  [Hint: 1 mi = 5280 feet.]
 16. Find the prime factorization of 6.
 17. Match the graph with one of the equations.
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 A) [image: image4.wmf]
 B) [image: image5.wmf]
 C) y = 2x – 1
 D) [image: image6.wmf]
 18. Subtract.
–8 – 8
 A) 16
 B) 0
 C) 0
 D) –16
 19. A roof rises 8.5 ft over a horizontal distance of 20.89 ft.  What is the slope of the roof to the nearest hundredth?
 A) 2.46
 B) 0.41
 C) 1.75
 D) 1.34
 20. Solve the following system of linear inequalities by graphing.


  x – 2y  4


          x ≥ 1

 21. Rewrite the equation y = –5x + 4 as a function of x.
 22. Which label describes the following?


[image: image7.wmf]
 A) Expression
 B) Linear equation
 C) Equation which is not linear
 23. Find the median.


10, 35, 29, 33, 24
 A) 29
 B) 24
 C) 33
 D) 10
 24. Adult tickets for a play cost $20 and child tickets cost $2.  If there were 29 people at a performance and the theater collected $364 from ticket sales, how many adults and how many children attended the play?
 25. Solve the system by graphing.


2x + y = 4


  x + y = 3

 26. The following pie chart represents the results of a survey about whether people in a certain town have cats or dogs as pets.

[image: image8.wmf]
What percentage of the people have only cats or only dogs?
 27. Match the graph with one of the equations.
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 A) y = [image: image10.wmf]x
 B) y = 3x
 C) y = [image: image11.wmf]
 D) y = x + 3
 28. A principal of $5000 was invested in a savings account for 4 years.  If the interest earned for the period was $400, what was the interest rate?  
 A) 1%
 B) 1.5%
 C) 2%
 D) 2.5%
 29. These data represent the population of a certain city.

Year
Population (in thousands)

1950

18

1960

23

1970

29

1980

32

1990

38

2000

42

      


(a)  Draw a line graph for the data.

(b)  Use the line graph to predict the population in the year 2010.


 30. Write the equation of the line with x-intercept (–4, 0) and undefined slope.
 A) y = –4
 B) x = –4
 C) y = –4x
 D) x = 0
 31. Graph f(x) = 3x + 2.
 A) [image: image12.png]A




 B) [image: image13.png]



 C) [image: image14.png]



 D) [image: image15.png]



 32. The following pie chart represents the eye color of students in a certain class.

[image: image16.wmf]
What percentage of students in the class had brown eyes?
 33. Plot the point with coordinates (–3, –3).

 34. Graph y = –2x + 1.

 35. Solve the system by graphing.


3x + y = 6


3x – y = 0

 36. Subtract.    [image: image17.wmf]
 A) [image: image18.wmf]
 B) [image: image19.wmf]
 C) [image: image20.wmf]
 D) [image: image21.wmf]
 37. Solve.     –2(x + 6) = 4
 38. Find the slope of the graphed line.
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 A) 4
 B) –4
 C) [image: image23.wmf]
 D) [image: image24.wmf]
 39. Solve the system by substitution.

     3x – y = –7

       x + y = –9
 40. Find the mean.

3, 7, 9, 11, 15
 41. Solve the following system of linear inequalities by graphing.


  3x + 4y  12


    x + 3y  6


             x ≥ 0



 y ≥ 0

 A) [image: image25.png]



 B) [image: image26.png]



 C) [image: image27.png]



 D) [image: image28.png]



 42. Convert [image: image29.wmf] to a fraction.
 43. List all the factors of 97.
 44. The following bar graph shows the enrollment at a community college.

[image: image30.wmf]
What was the increase in enrollment from 1998 to 2000?
 45. The sum of three consecutive odd integers is 201.  Find the integers.
 46. Give the coordinates of the point graphed below.
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 A) (–3, 2)
 B) (2, –3)
 C) (3, –2)
 D) (–2, 3)
 47. Rewrite the equation 4x – 10y = 11 as a function of x.
 A) [image: image32.wmf]
 B) [image: image33.wmf]
 C) [image: image34.wmf]
 D) [image: image35.wmf]
 48. Graph f(x) = –2x + 2.

 49. If the sales tax rate is 3% and the tax on a purchase is $12, what was the amount of the purchase?
 50. Solve.     [image: image36.wmf] – 6 = 12
 A) 36
 B) [image: image37.wmf]
 C) [image: image38.wmf]
 D) 45
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